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Operations Research-+S-
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Note: l. Answer any FQUk{.*ll questions from QI io."Q7.
2. Question No.
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3. Use of N,

I a. Defure operation research. t, .' (03 Marks)

b. Discuss the applicationsffiqp&fations research. to* (07 Marks)

c. Use the graptiital metlro0tb ioke the following LP problem
Maximize Z= llxr +;'ioi, ','"i
Subject to the coqffiffirtS 4x1+ 6xz<360 . .$

p*'q%I$ 3x1 + 91, s t8fukw

,,*u,l-.fl 

* 1il.,.',::r=-w' ,loMarks)
.'i-'Ei=*d ,,

,f.&U-' .-fu *s.

Wtrtti\sla basic feasible solutioffi#ntion the type o{ffiifeasible solution. (03 Marks)

A computer centre has threp Ekpert pro$arylilSShe centre w,ant three application
nrosranmes to be develooed.''The head of the"c&dffrrtHr centre. afte$ffivins carefully theprograrnmes to be developed.'The head of the.g&ffif6r centre, a$#ffiAying caretully the
programmes to be develdiffiS estimates the coffiIir time in minutodte"tluired by the experts

for the applications progammes as follows I *
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grammers to the programmes in a $uch a way that the total computer time is
rq, :ii .i., . Js! \& _ {i, :ii .i. uirminiffi: n"& *., ,* 

* (07 Marks)
c. Briefly discuss the opeSAqib# research models. (10 Marks)
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b'jit*: What is an ass igl.rpHttuproblem?
b.' Use Voeel's AoorB*imation Mt

;+il+, '-J+

followingtrrffirtat
" '%tr*u

,,. (03 Marks)

b.' Use Vogel's_,$p,pr6*imation Mel&ffikOAM) to find initial basic feasible solution, for the(VAM) to find initial basi
proble

Dr Dz Dr D+ Supply
{r t9 30 50 10 7

&Sz 70 30 40 60 9
,,'" Ss 40 8 70 20 18

Demand 5 8 7 t4 34

80 *9N 110

t 10.,.*ri#0 I20

c. Explain the varfoud'assumption, Advantages and limitation of linear programming models.
! (10 Marks)
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4a.
b.

What is pure strategy and mixed strategy?

A company management and the labour union
Each of these has 4 strategies. The costs to the
choice.

What strategy will the two sides
c. Determine an initial basic feas

D NWCM ii) LCM.

20MB.d24

(03 Marks)

a new three year settlement.
iven for every pair of strategy

(10 Marks)

(03 Marks)

are

value of the
Player B

B
t/
/2

Job I 2 3 4 5

Machine A 8 10 6 7 11

Machine B 5 6 2 3 4

Machine C 4 9 8 6 5

r=::+.:r:r.
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ii) Laplace c.r-iterion.
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6 a. What are thq@$tiir.t of schedri@ (03 Marks)

b. What are trfu;'Btefus of decision +*{ffrfiing process? (07 Marks)

c. Find the se<iiiijnce that minimi-zes"the total time required in performing the following jobs on

) of differer#:1r'ilegies
(07 Marks)

Sr, Sz and S: against
i) maximini criterion

three machines in the or&r- ABC. Processing times (in hours) are given in the following
table
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Union strategies
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5 a. What iEnetwbrk analysis?

b. Fur{,ffibeit strategy for each
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7a.
b.

What do you mean by simulation?

c. The following netwo

Determine the fo mg

(03 Marks)
shows the dailyA bakery keeps stock of a popular brand of cak expenence

demand pattern for the item with a$qltatgq b ven below :

Use the following sequence of random num simulate the demand for next
1) )O -;+#,Random numbers 6, 40, 19,87 ,83,73,84ru9.'CI9, 02,20 ._ l

work diaeram represffii*aE'iivities associated with a t

Activities oA" "B C D E F .G' H I
Optimistic time r 18 26 t6 15 ".6"" 7 7 J

Pessimistic time*. l0 ')) 40 20 2"$ t2 9 5

Most likelv,Giffi, 8 20 33 l8 Zff'. :;9 l0 8 4

llowine: t-P' j'

l0 days.
(07 Marks)

(weeks)

if the original scheduled
(10 Marks)

a. k diagram for the
) Critical path anr

ihg data :

reth iil TotalI float.
Activities 1-3,c t-4 2-6 2 #?* g= 4 4-9 7-;i$ 8-10
Duration ,!.

u}: "v* ',
13 9 *a , 10 6

=.*xn$' l0

ist has a I?6 acre farm. The{oF'ediices radish" mutta? and potato
,*r,* (10 Marks)

b. An agriculturist has a lM acre farm. Th.gipF'bdiices radish, mutta* and potato. Whatever he

raises is sold fully in the market. He gets'Rs. 5 per kg for radish Rs. 4 per kg for muttar and

Rs.5 per kg fonryotato. The average*per,aire yield is l500Kg of radish, l800Kg of muttar
and 1200kg dffip_otato. To produce,Cpffh'"l00Kg of radish ai{d muttar and 80kg of potato, a

sum of Rs. 12.50 has to be used @ffianwe. Labour,r"gquired for each acre to raise the cropsum of Rs. 12.50 has to be used fifuffianwe. Labour,'r,grquired for each acre to raise the crop

is 6 mar{afs forradish and@6to each and 5.man_-iiays for muttar. A totalof 500 man-

days offfBhur at a rate of Rs.'+$ per man-day is dffidble.
Forntr$t&e this as a linearffiffimming modgl temaximize the agriculturist's total profit.

ffiY-- ,,*i#u (10 Marks)
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